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ERHNER ERLTT PR8Il T HEHI T m® | 150 152. 8
BXMEIT |(BLER- L T8 mS | 190 | 192.7
HkiEEmT Ext+T PRE T m® | 40 35. 1
BRL T m® | 20 15.5
EERBIE m? 23. 6
A& T RS 150 % 150 m 50 49.9
15MEE
EET HEKE VU ¢ 200 m 1 0.9
2EMEE
HEKE VU ¢ 200 m 4 3.9
avs ) —rEIAR ¢ 200 T 3 3.0
ki T 12 4EM B400-L600-H700 | @&FF | 2 2.0
1BRKT T-2
R—ILibE | ERIJov s E | &F | 1 1.0
2EIFRAK T > T-2
R—ILieE | EROov o B | &R | 3 3.0
SEIFAAKT Y T-2
R—ILiEE | EROOv B | &R | 5 5.0
T-25
ERIJOvs R | &R | 1 1.0
FAIT7IE BAZR 7R3> (13)
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$r-bhHt DSy r—35 Yy
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BEFHTRAa2(13)
HE t=4cm m? | 652 | 652.4
FEi-bAHEEHE
xE BHET 23> (19), t=4on | m2 652 652. 4
BEE
AV rILsEE|  FEIE &dom m? | 652 | 652.4
JS5 R MLE m? | 652 | 652.4
Jaovsy
SET T4ILE—B b, t=5cm m?2 | 271 | 270.5 |—#as
T4ILE—B B>, t=10cm m2 | 184 | 184.3 |EMEANLS
DIy v—3
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DIy v—3
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ZFEJOowy
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ERITOVH
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ZFEJOowy
#IK, t=8cm m2 | 19 19.4 |E@ERANER
FEInvy
A1k, t=8cm m? 1 1.4 [EREANE
BEKO— b m? - 474.8
BAET Ext+T PRE T m® | 20 18.7
EERBIE m? 51.9
1R 180 x 100 x 600
BaIL BRIOvH BAaEAF5a m 40 39.7
2RI EE 180 x 100 x 600
ERIOvY | BAEAF5E m | 113 | 113.4
REAE - -R1) 180 x 80 x 600
BRIOvH BaEAF5a m 10 9.8
4RI S EE 180 x 100 x 600
BRIOvH BAaEAF5a m 6 5.7
Mo iE R 120 x 120 x 600
Jowvy BAEAT58E m | 155 | 155.2
PhEEMmT Ext+T PRE T m> | 10 10. 4
BRL T m> | 10 6.4
EERBIE m? 8.0
[ b4 T RS—K $114.3,h=0.8m | # 4 41.0
A
RE#HT RE#HT e t=15cm, £ m 7 7.0
A
=18 t=30cm, =& m 8 8.1
A
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IXRa—h+rY—> W=45cm m 4 4.0
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HEKEEEY
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HEEER
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SRR E Y m® 15 14.5 35. 8t
W|EEED m® 19 19.1 44. 9t
BT t 0.4 0.4
RE&ET REBBRET | XEFEEHESS A 164 164.0
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EAIT RA T8 m® 152.8
BrAET Erassk T8 m® 192.7
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1. EAEIT (£8)
V = 61.83 + 16.35 + 14.62 = 152.8 m3
EE fEEIR EHI EE fEEIR EHI
X | &5 XM | &5
A (m2) t(m) V(m3) A (m2) t(m) V(m3)
Al 126. 30 0.14 17.68 A14 313.06 0.14 43.83
A2 11.78 0.20 15. 56 A15 2.18 0.15 0.33
A3 51.48 0.18 9.27 A16 12. 89 0.14 1.80
A4 20.08 0.20 4.02 A17 3.69 0.26 0.96
— A5 14.41 0.21 3.03 A18 9.78 0.25 2.45
A6 6.05 0.31 1.88 A19 2.48 0.15 0.37
A7 1.75 0.32 2.48 A20 8.92 0.14 1.25
A8 19.14 0.20 3.83 A21 5.13 0.26 1.33
A9 19.43 0.21 4.08 XME3 | A22 1.03 0.26 1.83
INET 61.83 A23 47. 64 0.25 11. 91
A10 32.23 0.14 4.51 A24 1.93 0.26 0.50
A1l 9.33 0.20 1.87 A25 8.37 0.15 1.26
XME2| A12 27. 61 0.31 8. 56 A26 35.90 0.14 5.03
A13 5.62 0.25 1.4 A27 3.05 0.15 0.46
INET 16. 35 A28 2.59 0.20 0.52
A29 3.74 0.21 0.79
INET 14. 62
2. HBiuET
L
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HEE - RYE 152.8 35. 1 18.7 10. 4 217.0
RALXx:
ERET HRRE BEI |hEMT | St
BEYIT
BRL 0.0 15.5 0.0 6.4 21.9
vV = 217.0 — 2.9 x 1./ 0.9 = 192.7 m3
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ki T 1S4 B400-L600-H700 | &Fk 2.0
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1. #E%ExT
55 PRIE (7)) |[EBRL (X8| EEEIE
(m3) (m3) (m2)
SELF 22.0 7.8 22.0
25 RHIKE 2.0 1.3 —
15 #EM 6.4 4.0 1.6
TBRKY U R—)LbiEE 0.2 — —
2BIRAK T Uih— UL S 0.9 — —
SEITAK T Uih— )L LS 3.6 2.4 —
&t 35. 1 15.5 23.6
@31 27 TS g | 25O 0ET ) s
R tw m3 4.5 22.0
FEEE BRL ) m3 48.9 1.6 7.8
HEETE m2 4.5 22.0
25 HEE R tw m3 | (3.9m) 2.0 2.0
HekE BRL o)) m3 1.0 1.3 1.3
R T m3 3.2 6.4
1S HEH BRL o)) m3 2.0 2.0 4.0
HEEE m2 0.8 1.6
AT M R T m3 1.0 0.2 0.2
PR AHE R T m3 3.0 0.3 0.9
SBIFMAK< Y RHE T m3 0.6 3.6
R—ILiE S BRL T m3 6.0 0.4 2.4
MEAELITER
L = 26.7 + 22.2 = 48.9 m




A&EAEE FXLT

1003

300

250

153

300

% /
HEL A=0.08m2 450 HEL A=0.08m2
HUEUE: &
A g iR B g = = B OE
RE T m3 |0.45 x 10.00 4.5
HBEL T m3 | ( 0.08 4+ 0.08 )x 10.00 1.6
HEEIE m2 |0.45 x 10.00 4.5




2E5HEEHIKE EEXTT
4800 2000
500 2750
1375 1375
725
7 SRmAT U h— bk E
2.0%___ (=) I _’o_i_:
s e SR x| —r I A — —
[ ﬁj s S 2 g & Tj
I_ — —
BE = i 2 BOX _,\ BIER KT vR—IL
a2 51— FEIE ¢ 200 ‘ Y5 1) — FAEIFL ¢ 200
' 2EREEHE KB VUG 200 L=3. 9m
1 &1 F 141 E

H H

B E————

B3 2l i

2 O\ >

H‘ - 0

3oo| hoo o

200 2B RSEHKE
800 VU@ 200
ERERE:
% g iR % B4y =1 = #= W B
RE T m3d |0.80 x 0.63 x 3.9 2.0
0.80 x 0.45 x 3.9

HREL T m3 |— /4 x © x 0.20 2 x 3.9 1.3




1SHEMN FXRLIT

1010

1900

HiEH% (R /F t=18cm)

/ EBRA=1.29m2

180%;5&&%&"&%15 500 T 900 T 500
P ZRA0 Tn2 oo
° °
150 850 S 2
>
N—A
o o e | m
= 2e s i
] /
™
- [
SEEHR IO VY o o
A0, 04m2 8 8

190_| 38 Sk RIRE

1900

500 900 500 ISEEHKE
(VU ¢200) L=0. 45m
SHE % (EREt=19cm) N ]
$2ERA=1. 01m2 3 7774‘
B L \
- - N e yd e H
g g |
I
L 000 I L_
T T I
1000 | |
15= yﬂ:—)b}%}rko. 16m2
777777 (|
IERERE: S
& L RO® B =1 = neE W =
1.90 x 1.70 x 1.01
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- 129 x 0.18 — 1.01 x 0.19
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HEEIE m2 |1.00 x 0.80 0.8




1BIMRKY Uk—ILEfEE EXLT
1175
500 675
500
|7
—
ol o 4 ; fesE
) \
>~ —
— 212 #1A=0. 008n2
1175
500 675
e
500
:EJ%L#»O
| 6580 |
‘ ¢ 500 ‘
i |
L
e BEERIB KT U R—
ERERE: S
% #R R® BAL " = HE IS
1175 x 1.75 x 0.175
— 0.50 x 0.12 x 1.75
— 1/4 x © x 058 2 x 0.10
PR T® m3 |+ 0.008 x 0.100 0.2




2RI K~ vik—ILEEE XL

1

175

500

= - 2R 5MA=0. 008m2
i | 1] ] fa| e
= B $2BR4HA=0. 008m2
8
\
1175
500 675
f£ig
500
=
| 50 |
‘ ¢ 500 ‘
i |
);) (XJI BESR BRIV R—IL
1Y Y SR
B i B 4L 7 BE i
1175 x 2,53 x 0.175
— 050 x 0.12 x 253
- 1/4x m x 058 2% x 010 x 2
PR 1R T® m3 |+ 0008 x 0.100 x 2 0.3




SEIFRKY Rh—ILIbFEE FELXTT

1750
500 750 ‘ 500

500

]

500

1750
750

500

500 750 500

250
0
1l
:
0
‘ 50

0 (X _
ERERE:
% b1 ¥ B g = H= B OE
1.75 x 1.75 x 0.25
— 050 x 0.19 x 1.75
RE T m3 |— 1/4 x © x 0.58 2 x 0.10 0.6

1.75 x 1.75 x 0.15
HBEL T md [— 0.75 x 0.75 x 0.15 0.4




fAiELT - BRI - EKkHMI HEFE

1.

FZY4a1i% (150 x 150 L=2000)

L = 27.2 + 22.7 = 49.9 m
v gL iE wi v e
@5 &7 1% wmy | EE 10ms 1) 0
(m) =)
A& 150 x 150 & 5.00 25.0
BEILEI 1:3 m3 0.08 0. 40
MEMEE HLavsy—+k o ck=18N/mm2 m3 49.9 0.18 0.90
ERA RC-40, t=10cm m2 4. 50 22.5
2. 1Er5EHKE (VU 200)
L = 0.45 + 0.45 = 0.9 m
3. 2ERSEHIKE (VU 200)
L = 3.90 = 3.9 m
4. a4 )— MEIF (6 200)
N = 1.0 + 1.0 + 1.0 = 3.0 &Hmr
5. 1E47Em
N = 1.0 + 1.0 = 2.0 &HT
_ o~ A I L v
@5 &7 1% s | omm | EPEY 0
2
avhy—k o ck=18N/mm2 m3 0.35 0.7
pilp m2 4.62 9.2
15 #EMN ERA RC-40, t=15cm m2 2.0 0. 80 1.6
JL—FU0& wELRAH, T-25 88 | K 1.00 2.0




6. 1EFRKT UHR—ILIEHEE

N = 1.0 = 1.0 &

_ TR AL | v e

471 & ¥ s B | S ‘%&;’ wE
Tok—LibiE (T2 EwonovsA| & 1.00 1.0
2R THRIL b M10 x 90 PN 4. 00 4.0
18I/RK NAF Y FEES  |SS400, mRESAvE| @ 4.00 4.0
TUR—)l |BEHE-MEELIL m3 1.0 0. 01 0. 01
fedtss E@aryy—t o ck=18N/mm2 m3 0.03 0.03
Ei A m2 0.24 0.2
avy ) — ML ¢ 20mm, L=50mm | 5FR 1.00 1.0

1. 2BIRK< UR—ILiEREE

N = 1.0 + 1.0 + 1.0 = 3.0 &Fr

_ TR AL | v =

471 & ¥ s B | S ‘%&;’ e
I oR—ILiEHE (T2, FRIJnv oA @ 2.00 6.0
E2RTRIL M10 % 90 PN 8.00 24.0
PERLNSSY)S NAF Y FEES  |SS400, mRESAvE| @ 8.00 24.0
ItR—)l |[ESHE-MEEELEIL m3 3.0 0.01 0.03
i HEFEa o )—Fk o ck=18N/mm2 m3 0.06 0.18
pinp 3 m2 0.34 1.0
avy ) — ML ¢ 20mm, L=50mm | 5FR 2.00 6.0




8. 3BIFK< vR—ILbHE (T-2/)

N = 1.0 + 1.0 + 1.0 + 1.0 + 1.0 = 5.0 T
@31 27 s s | mw | EPEY e
TUR—ILEHE (T2 FRIov oA @& 1.00 5.0
RELISSP/S 3R b M10 x 5260 & 4.00 20.0
IUR—IL | RAFT Y MFEESE  [SS400 AmEMAvF | {H 4.00 20.0
R iE BEFEEa LY Y—+ | ock=18N/mm2 m3 5.0 0.06 0.30
HE@gEaro)—+ o ck=18N/mm2 m3 0.03 0.15
g e m2 1.16 5.8
9. 3BFIKTUER—ILILHE (T-25)
N = 1.0 = 1.0 &fkr
@31 27 s s | omm | EPEY e
ToR—ILEE | 1-5 FROovoA | #E 1.00 1.0
SEIFRIK = % VA M10 x 5260 & 4.00 4.0
IUR—IL | RAFT Y MNFEESE  [SS400 AmEMRA vF | {H 4.00 4.0
g% BEFAEa LY Y—+ | ock=18N/mm2 m3 1.0 0.06 0.06
HE@gEaro)—+ o ck=18N/mm2 m3 0.03 0.03
g e m2 1.16 1.2
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0.675 x 0.750 X 0.100
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HEITHEEX (&%) (1/1)
BEOA | B8 BAfSE ¥ B Hm =
FAI7ILE BEZRNTAOY (13)
ghiE T A t=4cm m? 12.0
F-HhHHE 9oy y—3 v
SHET TRE®RE RC-30, t=10cm m? 646. 3
BAEZRF7RXa2(13)
B t=4cm m? 652. 4
F AT
=2 BfIE7 A2 > (13), t=4cm | m? 652. 4
AU RILIES BERA., BIE S4cm m? 652. 4
ISR g m? 652. 4
JOv I SET | J4ILE—F B>, t=5cm m? 270. 5 —fB
DI9yorvy—3
eSS RC-30, t=10cm m? 270. 5 —fB
=2 >, t=3cm m? 284. 2 — s
FAKUFERIT Oy Y, t=6cm | m’ 251.8 — 8
BKEFEIO VY
#4K, t=6cm m’ 29.9 — B
BKEFETIO VY
=K, t=6cm m? 2.5 — Rt
T4ILE—[E B>, t=10cm m? 184.3 | EEEANL
D9y v—3
TRE®RE RC-40, t=15¢cm m? 184.3 | EEEANL
=2 R, t=2cm m? 190.6 | EEEANL
BAKUFERITI Oy Y, t=8cm | m’ 169.8 | EmMEANL
BKEFEIO VY
#24K, t=8cm m” 19.4 | HEEEANL
BKEFEIO VY
A1k, t=8cm m? 1.4 | EfREANLE
BJKRKI— b m2 474. 8




TAI77ILMGET HEHE

1. R[E (EHEAs, t=4cm)
A = 11.97

FrbhAHEHET HEHE

2. TR®B® (O Z v vy—3F 2 R0-30, t=10cm)

A = 652.4 — 5.7 — 0.1 — 0.3
al = 272.47 + 32.056 +  347.91
(XfE1) (XfE2) (XFE3)

RS HEEER IO U R
a2 = (

+ 1.90 + 42.30 ) x 0.05

ARVGEEFER J Oy o 2k MARGEEER TO Y Y OERERELS. Tnd 5 bL=1.5n& 35

a3 = 1.50 x 0.05

SBIFRKT v R—)LE#EE 18T
ad = 0.544 x 0.544

3. EEB(Z7RI77ILMEEWY, t=4cm)
A= 27247 + 32.056 +  347.91
(XfE1) (XfE2) (XFE3)

4. RE EER) (F-hHHEEHE EFE, t=4cm)
A= 27247 + 32.056 +  347.91
(XfE1) (XfE2) (XFE3)

5. EAVKRILYEE., 75X MLE
A= 27247 + 32.056 +  347.91
(XfE1) (XfE2) (XFE3)

0.60 + 0.60 + 9.50 + 58. 50

12.0

646. 3

652. 4

5.7

0.1

0.3

652. 4

652. 4

652. 4

m2

m2

m2

m2

m2

m2

m2

m2

m2



JnyOSETI HEHE

(—HRER)

6. Z4I)L%—EH, t=bcm)
A = 284.6 — 4.9 — 4.6 — 4.6 = 270.5 m2
al = 104.88 + 11.42 + 135.86 + 29.9 + 2.5 = 284.6 m2

RS — FEERR (40EFR)

a2 = 0.350 x 0.350 x 40 = 4.9 m2
SHEEFER IO YR XEEBEER IO VY OERIEREL=168. 6mdD S5 5L=106.2m& § 3
a3 = ( 106.20 — 0.350 x 40) x 0.05 = 4.6 m2
WERR IOy YR XHEER IOy OERERIL=155. 200 5 L=92. 3m& 4 %

ad = 92.30 X 0.05 = 4.6 m2

1. TR®®E (S vvy—33 2 RC-30, t=10cm) XIANE—BERIEELD
A = 270.5 = 270.5 m2

8. x[E (B4HY, t=3cm)
A = 251.8 + 29.9 + 2.5 = 284.2 m2

9. RE(FEHRIDO v, t=6cm)

A = 252.2 — 0.4 = 251.8 m2
al = 104.88 + 11.42 + 135. 86 = 252.2 m2
miE miE miE
X[ | 5 X[ | 5 X[ | 5
A (m2) A (m2) A (m2)
A5 49. 69 X2 A7 11.42 A8 25.13
XF1
A6 55.19 XMm3| A9 20.73
A10 90. 00
INET 104. 88 INET 11.42 INET 135. 86

RS — FEERR (40EFR)
a2 = 1/4 x 1 x 0.1143 2 x 40 = 0.4 m2



10. FE IO v Y (IR, t=6cm)
L = 19.1 + 26. 4
A = 99.8 x 0.30

1. FE87J0v9 (RiK t=6ecm)

N = 18.0 + 10.0
A = 0.30 x 0.30
(EmlE’EANER)
12. 7 4 )L — (8, t=10cm)
A = 190.6 — 0.1
al = 16.73 + 35.22

RS — FERR (1R
a2 = 0.350 X 0. 350

SEEHFER IO YR
a3 = 62.40 x 0.05

HEER IOy IR
ad = 62.90 X 0.05

+ 8.6 + 9.0 + 36.7 = 99.8 m
= 29.9 m2
= 28.0 &

X 28.0 = 2.5 m2

- 3.1 — 3.1 = 184.3 m2

+  117.87 + 19.4 + 1.4 = 190.6 m2

x 1 = 0.1 m2

KEEEHERTO Y OERERIFL=168. 6mD 5 HL=62. 4dm& %
= 3.1 m2

KEER T O Y OERIERFL=155. 2mD 5 51L=62. & ¥ %
= 3.1 m2

13. TE®E (Y 5y v—37 URC-40, t=15cm) XITANE—BERIEELD

A = 184.3

14. RE (B, t=2cm)
A = 169.8 + 19.40

= 184.3 m2

+ 1.4 = 190.6 m2



15, RE (FHRTO v o, t=8cm)

A = 169.8 — 0.01 = 169.8 m2
al = 16.73 + 35.22 + 117. 87 = 169.8 m2
miE miE miE
X[ | S X[ | S X[ | 5
A (m2) A (m2) A (m2)
X1 Al 16.73 XmE2| Al12 35.22 A13 21.43
XfE3
A14 96. 44
INET 16. 73 INET 35.22 INET 117. 87

RS — FERR (1ER)
a2 = 1/4 x 1 x 01143 2 x 1 = 0.01 m2

16. FEJO vy (#IK, t=8cm)
L = 7.0 + 7.0 + 9.0 + 41.7 = 64.7 m

A = 64.7 X 0.30 = 19.4 m2

17. #8709 9 (RiK, t=8cm)

N = 16.0 = 16.0 &

A = 0.30 x 0.30 x 16.0 = 1.4 m2
18. B KL — k

A = 251.8 + 29.9 + 2.5

+ 169.8 + 19.4 + 1.4 = 474.8 m2



BRI HEEFF (&%) (1/1)
iz} Al | Al b3} 1% B # = 1
et T KRR T8 m® 18.7
EEEE m?’ 51.9
1BI5EE 180 x 100 x 600
AL BERIJOvY BaEA4T56 m 39.7
28I S 180 x 100 x 600
ERIJOvY BAEATSE m 113. 4
3RIGEE 180 x 80 x 600
BRIJOvY BaEA4T56 m 9.8
ARG EE 180 x 100 x 600
BRIJOvY BaEA4T56 m 5.7
Hh IR BB1 120 x 120 x 600
Jawvy BAEATSE m 155. 2




EELT HEHE

1. LT
PRYE (£89) EEEE
&3l "%
(m3) (m2)
BVSEBERERTOVY 9.9 26.0
ARSEERR IOV Y 0.4 1.1
HEFER IOV 2.1 1.0 X1
HEFER IOV 6.3 17.8 | X2, XHE3
a&t 18.7 51.9
@5 2% 15 s | ms | GRY e
2BISEE 737 ) m3 1.1 9.9
BRIOvY EmEEIE m2 89.6 2.9 26.0
ARVGEE 737 ) m3 1.1 0.4
BRIOvY EmEEIE m2 3.8 2.9 1.1
X1 FR1E T m3 0.5 2.1
wRHERIA Y EmEEIE m2 41.2 1.7 1.0
XfH2, 3 FR1E T m3 0.6 6.3
wRBERIA Y EmEEIE m2 104.7 1.7 17.8
RSHEERRIOVILIIER
L = 12.2 — 0.95 x 22 — 1.7 x 1 = 89.6 m
AT — FiZkk 3EIRIK T v R — LM R
ARSEEFR IOV I LIIER
L = 5.7 — 0.95 x 2 = 3.8 m
RS — FEERR
HEER IOy L ITER (KM
L = 50.5 — 1.75 X 1 — 2.53 x 3 = 41.2 m

TBEAT AR—UEEER  28FK< v R— L L SR

WEERIOy I L ITER (RKME2, XHEI)

L = 104.7

104.7 m




BELI WEFE

1. 1RSEBERER IO Y (180%100 % 600, A1 + 5 )

L = 17.0 + 92.7 = 39.7 m
sz L
471 & ¥ 1 By | EE ‘0.'.“%%’ wE
ImEEEERIO s | o2 R | @ 16.50 65.5
189588 BEILAI m3 39.7 0.03 0.12
wRIOYY HEBRE RC-40, t=10cm | m2 2.03 8.1
2. 2EIGEHEER IO Y Y (180100 % 600, R/ 1 -4 )
L = 0.6 + 0.6 + 9.5 + 58.5 + 1.9
+ 42.3 =  113.4 m
sz L
471 & ¥ 1 B | EE ‘0.'.“%%’ e
PMSEEERIO VY | er S ae | B 16.50 187.1
2RISEHE BEILAI m3 113.4 0.04 0.45
wRIOYY HEBRE RC-40, t=10cm | m2 2.90 32.9
3. JEIGHEER IO VY (180x80x%600, #HH A F+45)
L = 9.8 = 9.8 m
sz L
471 & ¥ 1 By | EE ‘0.'.“%%’ HE
SMWSEEERIO VY | oo hue | 1B 16.50 16.2
SRS HE BEILAI m3 9.8 0.03 0.03
wRIOYY HEBRE RC-40, t=10cm | m2 2.03 2.0




4.

ARISEBEERIOv - (180x100 % 600, #H 1A + 4 )

L = 5.7 = 5.7 m
sz L
471 & ¥ 1 By | EE ‘0.'.“%%’ wE
IRSEEERTAYY | g yge | B 16.50 9.4
ARV EE BEILAI m3 5.7 0.04 0.02
wRIOYY HEBRE RC-40, t=10cm | m2 2.80 1.6
5. #skEER IO w4 (BB1)
L =  155.2 =  155.2 m
sz L
471 & ¥ 1 B | EE ‘0.'.“%%’ wE
WEHRIOVY | gnyse | B 16.50 256. 1
R BEILAIL m3 155. 2 0.04 0. 62
Jawvs HEBRE RC-40, t=10cm | m2 1.70 26. 4
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HUEUE: &

% 7 iR % ==X v] g = M= W =
R T m3 [0.11 x 10.00 1.1
HEEIE m2 |0.29 x 10.00 2.9
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X1 X2, X3
420 420
300 120 300 120
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170 170
10m% Y #h=
% b1 iR 1% Bifsr g = H=E B OE
FR1E T8 m3 | 0.42 x 0.115 x 10.00 0.5 | X
HEEIE m2 | 0.17 x 10.00 1.7 &
X2
FR1E T8 m3 | 0.42 x 0.150 x 10.00 0.6 | XF83
X2
HEEIE m2 | 0.17 x 10.00 1.7 | XE3
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000,

\BEILZIL

B HR (RC-40)

HUEUE: &
% 1 iR % ==X v] = = = W =
1845818 180 x 100 x 600
BRIJOvY | B4 -5 & |16.50 IMNEEYRE LY 16.5
BEEJLEIL 1:3 m3 |0.153 x 0.020 x 10.00 0.03
RC-40
HEEERA t=10cm m?2 [0.203 x 10.00 2.03
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10m¥ Y $h =
% FR HO% =R g = H=E B
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BRIJOvY | a1 F-456 & |16.50 INBEEYIRIE LY 16.5
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HERA t=10cm m2 [0.200 x 10.00 2.90
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50| 180
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10m& Y #HE
% #R RO® B g =R H= W =
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BERIJOvY | A4 -4 | @ [16.5 INEEYRE LY 16.5
BEILZIL 1:3 m3 [0.180 x 0.020 x 10.00 0. 04
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HiE# A (RC-40)
50l 120 BEILAIL
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10m¥ Y $h=
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Jowvy B4 r45e f& |16.50 INBEEYIRIE LY 16.5
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iz} Al #m Al b3} 1% B # = {i&
ExtT BRiE ﬁ’ m® 10. 4
EEL EAEREINERE) | m 6.4
HEmEr m?’ 8.0
B .EHR T RI—F ®114.3,h=0. 8m ® 41.0




EELT HEHE

1. E%xT
RiE (/) [BRL(EW) | EEEIE
FER e
(m3) (m3) (m2)
RS—FK 3.2 1.6 3.2 X Rl
RS—FK 7.2 4.8 4.8 |XRE2. XRE3
&5t 10. 4 6.4 8.0
@5 &7 1% sy | ww | D 0
2
37 +5 m3 0.2 3.2
X1 1R L +5 m3 16.0 0.1 1.6
hRo—F HEEEIE m2 0.2 3.2
37 +5 m3 0.3 7.2
X2, 3 1R L +5 m3 24.0 0.2 4.8
hRo—FK HEEEIE m2 0.2 4.8
PHEMI #HEFE
1. R5— K (¢p114.3, h=0. 8m)
N = 30 + 60 + 90 + 10 + 30 + 40
+ 1.0 + 1.0 + 120 + 1.0 = 4.0 H
@3 20 me | we | mm | BPSY | ms
2
RS—FK $114.3,h=0.8m | & 1.00 41.0
RS—FK | E#a>sy—+k | 350x350x300 | f& 41.0 1.00 41.0
HMRA RC-40, t=10cm | m2 0.20 8.2
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‘ — = \ 54 40, 2012 \ 48 A<0. 30n2
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L—— 777{450 R L A=0.07m2 BEREL A=0.08m2 BEREL A=0.07m2
R L A=0.06m2 R L A=0.10m2
IEREDRE: S
£ FR & -Fiv] g K HE B
PR 2 T m3 |0.20 x 0.95 0.2 | XN
BREL T m3d [0.07 x 0.95 + 0.06 x 0.30 x 2 0.1 | XN
HEEIE m2 |0.45 x 0.45 0.2 X R
X f&2
PR 2 T m3 |0.30 x 0.95 0.3 | X3
( 0.08 + 0.07 )x 0.95 X 12
HEL T® m3 [+ 0.10 x 0.30 x 2 0.2 | X3
X f&2
HEEIE m2 |0.45 x 0.45 0.2 X3
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